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E–161 

M. A. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Third 

(Quantitative Methods) 

Time : Three Hours ]  [ Maximum Marks : 80 

    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- _.kkRed fo”kerk esa % 

¼v½ X M Z   
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¼c½ X M Z   

¼l½ X M Z   

¼n½ buesa ls dksbZ ugha 

In negative association : 

(a) X M Z  

(b) X M Z  

(c) X M Z  

(d) None of these 

2- fo”kerk ds izFke eki dk lw= gS % 

¼v½ ek/;&Hkwf;”Bd 

¼c½ Hkwf;”Bd&ekf/;dk 

¼l½ ekf/;dk&ek/; 

¼n½ buesa ls dksbZ ugha 

Formula of first measure of Skewness is : 

(a) Mean-Mode 

(b) Mode-Median 

(c) Median-Mean 

(d) None of these 

3- ;fn lglEcU/k xq.kkad (r) dk ewY; $-65 gS] rc ;g crkrk gS % 

¼v½ mPp Lrj dk lglEcU/k 

¼c½ e/;e Lrj dk lglEcU/k 

¼l½ fuEu Lrj dk lglEcU/k 

¼n½ buesa ls dksbZ ugha 
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If the value of coefficient of correlation is +.65, than it 

shows : 

(a) High degree of correlation 

(b) Medium degree of correlation 

(c) Low degree of correlation 

(d) None of these 

4- dkyZ fi;lZu ds lglEcU/k xq.kkad dk lgh lw= gS % 

¼v½ 
2 2

d x d y
r

d x d y

  

¼c½ 

2 2
d x d y

r
d d y

  

¼l½ 
2 2

d x d y
r

d x d y

  

¼n½ buesa ls dksbZ ugha 

Correct formula of Karl Pearson’s coefficient of correlation 

is : 

(a) 
2 2

d x d y
r

d x d y

 

(b) 
2 2

d x d y
r

d d y
 

(c) 
2 2

d x d y
r

d x d y

 

(d) None of these 
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5- izrhixeu lehdj.k y a b x  esa y n’kkZrk gS % 

¼v½ Lora= pj dks 

¼c½ fLFkjkad dks 

¼l½ vkfJr pj dks 

¼n½ buesa ls dksbZ ugha 

In regression equation y a b x , here y shows : 

(a) Independent variable 

(b) Constant 

(c) Dependent variable 

(d) None of these 

6- ;fn nks izrhixeu xq.kkad $ 0-90 ,oa $ 0-50 gSa] rc lglEcU/k 

xq.kkad dk ewY; gksxk % 

¼v½ $ 0-45 

¼c½ $ 0-67 

¼l½ $ 0-72 

¼n½ buesa ls dksbZ ugha 

If the two regression coefficients are + 0.90 and + 0.50, than 

the value of coefficient of correlation will be : 

(a) + 0.45 

(b) + 0.67 

(c) + 0.72 

(d) None of these 
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7- fuEufyf[kr esa ls vkarjx.ku dh fdl fof/k dk mi;ksx fd;k tkrk 

gS tc x ds fofHkUu ewY;ksa ds e/; vleku vUrj gksrk gS \ 

¼v½ U;wVu dh izxkeh vUrj fof/k 

¼c½ ,dsUnz oØ vUok;kstu fof/k 

¼l½ ySxzkatt dh fof/k 

¼n½ buesa ls dksbZ ugha 

Of the following, which method of interpolation is used 

when the difference among various values of x is uneven ? 

(a) Newton’s advancing difference method 

(b) Method of fitting a parabolic curve 

(c) Lagrange’s method 

(d) None of these 

8- cgqxq.kh izrhixeu lehdj.k esa vkfJr pj dh la[;k gksrh gS % 

¼v½ 01 

¼c½ 02 

¼l½ 03 

¼n½ buesa ls dksbZ ugha 

In multiple regression equation, number of dependent 

variable is : 

(a) 01 

(b) 02 

(c) 03 

(d) None of these 
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9- nks xq.kksa esa /kukRed lEcU/k gksrk gS tc % 

¼v½ o e
f f   

¼c½ o e
f f   

¼l½ o e
f f   

¼n½ buesa ls dksbZ ugha 

Positive association between two attributes occurred when : 

(a) o e
f f  

(b) o e
f f  

(c) o e
f f  

(d) None of these 

10- fuEufyf[kr esa ls xq.ku izes; dk lgh lw= gS % 

¼v½ P (A B ) P (A ) P (B )   

¼c½ P (A B ) P ( A ) P ( B )  

¼l½ P (A B ) P (A ) P (B )  

¼n½ buesa ls dksbZ ugha 

Of the following correct formula of multiplication theorem  

is : 

(a) P (A B ) P (A ) P (B )  

(b) P (A B ) P ( A ) P ( B )  

(c) P (A B ) P (A ) P (B )  

(d) None of these 
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11- rk’k ds 52 iŸkksa esa ls ,d iŸkk vkdfLed :i ls [khaps tkus ij 

mlds b±V dk ckn’kkg gksus dh D;k lEHkkouk gS \ 

¼v½ 4@52  

¼c½ 1@52 

¼l½ 13@52 

¼n½ buesa ls dksbZ ugha 

What is the probability of getting a king of diamond  

when one card is drawn at random from a pack of  

52 cards ? 

(a) 4/52 

(b) 1/52 

(c) 13/52 

(d) None of these 

12- fuEufyf[kr esa ls dkSu&lk O;fDr dk ,d xq.k gS \ 

¼v½ O;fDr dk jkstxkj 

¼c½ O;fDr dh Å¡pkbZ  

¼l½ O;fDr dh vk; 

¼n½ buesa ls dksbZ ugha 

Which of the following is an attribute of a person ? 

(a) Employment of a person  

(b) Height of a person 

(c) Income of a person 

(d) None of these 
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13- vkn’kZ funsZ’kkad dk lEcU/k gS % 

¼v½ bjfoax fQ’kj ls 

¼c½ ,Me fLeFk ls 

¼l½ MkYVu ls 

¼n½ buesa ls dksbZ ugha 

Ideal Index Number is concerned with : 

(a) Irving Fisher  

(b) Adam Smith 

(c) Dalton 

(d) None of these 

14- fuEufyf[kr esa ls fdls vkfFkZd cSjksehVj dgk tkrk gS \ 

¼v½ ekf/;dk 

¼c½ lglEcU/k xq.kkad 

¼l½ funsZ’kkad 

¼n½ buesa ls dksbZ ugha 

Which of the following is know as economic barometer ? 

(a) Median 

(b) Coefficient of correlation 

(c) Index Number 

(d) None of these 

15- dky Js.kh fo’ys”k.k ds vUrxZr vfHko`fŸk] kl] volkn rFkk iqu#RFkku 

dk lEcU/k gS % 

¼v½ ekSleh ifjorZu ls 

¼c½ pØh; mPpkopu ls 

¼l½ vfu;fer ifjorZu ls 

¼n½ buesa ls dksbZ ugha 
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With respect to analysis of time series, prosperity, decline, 

depression and recovery is concerned with : 

(a) Seasonal variations 

(b) Cyclical fluctuations 

(c) Irregular variations 

(d) None of these 

16- nh?kZdkyhu izo`fŸk dh eki djus dh lokZsŸke fof/k gS % 

¼v½ v/kZ&e/;d jhfr 

¼c½ py ek/; jhfr 

¼l½ U;wure oxZ jhfr 

¼n½ buesa ls dksbZ ugha 

Best method for measuring long-term trend is : 

(a) Semi-average method  

(b) Moving average method 

(c) Method of least squares 

(d) None of these 

17- Qyu Y a b x  esa x gS % 

¼v½ vkfJr pj 

¼c½ Lora= pj 

¼l½ fLFkjkad 

¼n½ buesa ls dksbZ ugha 

In function Y a b x , x is a : 

(a) Dependent variable 

(b) Independent variable 

(c) Constant  

(d) None of these 
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18- ,d iqLrd esa dqy i”̀Bksa dh la[;k gS % 

¼v½ lrr~ pj 

¼c½ vlrr~ pj 

¼l½ fLFkjkad  

¼n½ buesa ls dksbZ ugha 

Number of pages in a book is a : 

(a) Continuous variable 

(b) Discrete variable 

(c) Constant  

(d) None of these 

19- ;fn 
2

1 5y x  gS] rks 
d y

d x
 dk ewY; gksxk % 

¼v½ 
2

3 0 x   

¼c½ 1 5 x   

¼l½ 
2

1 5 x   

¼n½ buesa ls dksbZ ugha 

If 
2

1 5y x , then 
d y

d x
will be : 

(a) 2
3 0 x  

(b) 1 5 x  

(c) 2
1 5 x  

(d) None of these 
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20- ( )c f y  Qyu dks dgk tk;sxk % 

¼v½ vjs[kh; Qyu 

¼c½ vpj Qyu 

¼l½ js[kh; Qyu 

¼n½ buesa ls dksbZ ugha 

Function ( )c f y  is known as : 

(a) Non-linear function 

(b) Constant function 

(c) Linear function 

(d) None of these 

 [k.M&c izR;sd 1

2
1   

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fuEufyf[kr iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A lHkh iz’u 

vfuok;Z gSA 

 Attempt the following questions in 2-3 sentences. All 

questions are compulsory. 

1- /kukRed fo”kerk D;k gS \ 

What is positive skewness ? 

2- vjs[kh; lglEcU/k D;k gS \ 

What is curvilinear correlation ? 

3- ljy izrhixeu D;k gS \ 

What is simple regression ? 
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4- vkarjx.ku gsrq iz;qDr U;wVu dh izxkeh vUrj fof/k D;k gS \ 

What is Newton’s advancing difference method of 

interpolation ? 

5- leadksa dh laxfr ls vki D;k le>rs gSa \ 

What do you understand by consistency of data ? 

6- lEHkkouk dk ;ksx izes; D;k gS \ 

What is addition theorem of probability ? 

7- vkn’kZ funsZ’kkad ls D;k rkRi;Z gS \ 

What is Ideal Index Number ? 

8- nh?kZdkyhu izo`fŸk ls vki D;k le>rs gSa \ 

What do you mean by long-term trend ? 

9- js[kh; Qyu D;k gS \ 

What is linear function ? 

10- vodyu D;k gS \ 

What is differentiation ? 

 [k.M&l izR;sd 1

2
2   

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fuEufyf[kr iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A lHkh iz’u vfuok;Z 

gSaA 

 Attempt the following questions within 75 words. All 

questions are compulsory. 

1- fo”kerk ds vUrxZr vkof̀Ÿk forj.k ds izdkj crkb,A 

Give the types of frequency distribution with respect to 

skewness. 
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2- laHkkO; foHkze }kjk lglEcU/k dh lkFkZdrk dh tk¡p dSls dh tkrh  

gS \ 

How to test the significance of correlation using probable 

error ? 

3- izrhixeu fo’ys”k.k ds dkSu&dkSu ls izdkj gksrs gSa \ 

What are the types of regression analysis ? 

4- vkarjx.ku ,oa ckáx.ku dk egRo crkb,A 

Give the importance of interpolation and extrapolation. 

5- D;k fuEufyf[kr leadksa esa dksbZ vlaxfr gS \ fn;k x;k gS % fdlh 

egkfo|ky; esa Nk=ksa dh la[;k 400 Fkh ftlesa ls 100 efgyk,¡ FkhaA 

Lukrdksa dh dqy la[;k 200 Fkh ftlesa ls 80 iq#”k FksA 

Do you find any inconsistency in the following data ?  

Given : The total number of students in a college was 400, 

out of whom 100 were females. The total number of 

graduates was 200 out of whom 80 were males. 

6- rk’k ds 52 iŸkksa esa ls 1 iŸkk [khaps tkus ij mlds ckn’kkg ;k csxe 

gksus dh D;k lEHkkouk gS \ 

What is the probability of getting a king or a queen when one 

card is drawn at random from a pack of 52 cards ? 

7- le; mRØkE;rk ,oa rRo mRØkE;rk ijh{k.k D;k gSa \ 

What are time reversal and factor reversal tests ? 
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8- dky Js.kh ds ekSleh ifjorZu ls D;k vk’k; gS \ O;k[;k dhft,A 

What do you mean by seasonal variation of time series ? 

Discuss 

9- Qyu ds fofHkUu izdkjksa dh la{ksi esa O;k[;k dhft,A 

Discuss in brief the various types of function. 

10- fuEufyf[kr Qyu dk vodyu dhft, % 

2 2
x y

x y
  

Diffrentiate the following function : 

2 2
x y

x y
 

 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fuEufyf[kr iz’uksa ds mŸkj 150 ‘kCnksa esa nhft,A lHkh iz’u gy 

dhft,A 

 Attempt the following questions within 150 words. 

Attempt all questions. 

1- fuEufyf[kr vk¡dM+ksa ls dkyZ&fi;lZu dk fo”kerk xq.kkad Kkr dhft, % 

eki vkof̀Ÿk 

10 

11 

12 

13 

14 

15 

2 

4 

10 

8 

5 

1 
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From the following data, find out the Karl Pearson’s 

coefficient of skewness : 

Measurement Frequency 

10 

11 

12 

13 

14 

15 

2 

4 

10 

8 

5 

1 

vFkok 

(Or) 

fuEufyf[kr leadksa ds fy, dkyZ fi;lZu dk lglEcU/k xq.kkad Kkr 

dhft, % 

x y 

40 

45 

28 

42 

48 

20 

36 

40 

50 

47 

38 

40 

45 

28 

38 

48 
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Calculate Karl Pearson’s coefficient of correlation from the 

following data : 

x y 

40 

45 

28 

42 

48 

20 

36 

40 

50 

47 

38 

40 

45 

28 

38 

48 

2- tcyiqj ,oa jk;iqj esa oLrqvksa dh dher ls lEcfU/kr fuEufyf[kr 

vk¡dM+s miyC/k gSaA jk;iqj esa oLrq dh dher dk vuqeku yxkb;s 

tcfd tcyiqj esa mldh dher ` 15 gS % 

  tcyiqj jk;iqj 

oLrq dh dherksa dk ek/; 10 12 

oLrq dh dherksa dk izeki fopyu 4-2 4-5 

oLrq dh tcyiqj ,oa jk;iqj esa dherksa ds e/; lglEcU/k  

xq.kkad  $ 0-80A 

The following data related with the prices of items in 

Jabalpur and Raipur are available. Estimate the price of a 

item in Raipur when its price in Jabalpur is ` 15 : 

 Jabalpur Raipur 

Mean of the prices of item 10 12 

Standard Deviation of the 

prices of item 4.2 4.5 

The correlation coefficient between the prices of item in 

Jabalpur and Raipur is + 0.80. 
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vFkok 

(Or) 

vkarjx.ku dh fdlh Hkh fof/k dk iz;ksx djds y dk ewY; Kkr dhft, 

tc x = 1992 gks % 

x y 

1990 

1991 

1992 

1993 

1994 

1995 

320 

300 

– 

280 

278 

250 

Using any interpolation method, find the value of y when  

x = 1992 : 

x y 

1990 

1991 

1992 

1993 

1994 

1995 

320 

300 

– 

280 

278 

250 



 [ 18 ] E–161 

3- fuEufyf[kr vk¡dMksa dh lgk;rk ls /kweziku ,oa pk; ihus dh vknr ds 

e/; ;wy dk xq.klEcU/k xq.kkad dh x.kuk dhft, % 

 /kweziku djus okys /kweziku u djus okys 

pk; ihus okys 40 33 

pk; u ihus okys 03 12 

From the data given below, calculate Yule’s coefficient of 

association between smoking and drinking tea : 

 Smokers Non-smokers 

Drinking tea 40 33 

Non-drinking tea 03 12 

vFkok 

(Or) 

¼v½ 52 iŸkksa dh ,d rk’k dh xM~Mh esa ls ckn’kkg vFkok bDdk 

fudyus ds D;k lEHkkouk gS \ 

Find the probability of getting a king or an ace when 

one card is drawn from a pack of 52 cards. 

¼c½ ,d ik¡ls dks nks ckj Qsadk tkrk gSA igyh ckj essa 6 ,oa nwljh 

esa fo”ke la[;k vkus dh D;k lEHkkouk gS \ 

A dice is thrown twice. What is the probability that it 

falls with number 6 upwards in the first throw and with 

an odd number upwards in second throw ? 
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4- fuEufyf[kr vk¡dM+ksa ls fQ’kj ds lw= }kjk funsZ’kkad rS;kj dhft, % 

oLrq,¡ 
vk/kkj o”kZ pkyw o”kZ 

ewY; ¼`½ ek=k ¼fdxzk½ ewY; ¼`½ ek=k ¼fdxzk½ 

v 6 50 10 56 

c 2 100 2 120 

l 4 60 6 60 

n 10 30 12 24 

b 8 40 12 36 

Construct index number from the following data using 

Fisher’s formula : 

Commodities 

Base Year Current Year 

Price 

(`) 

Quantity 

(kg) 

Price 

(`) 

Quantity 

(kg) 

A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 

vFkok 

(Or) 

dky Js.kh fo’ys”k.k ij ,d fVIi.kh fyf[k,A 

Write a note on analysis of time series. 

5- vodyu ds dkSu&dkSu ls fu;e gSa \ la{ksi esa ppkZ dhft,A 

What are the rules of differentiation ? Discuss in short. 
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vFkok 

(Or) 

fuEufyf[kr Qyuksa dk vodyu dhft, % 

¼v½ 
2 6

5 8y x x   

¼c½ 
2

( 4 8 ) ( 4 )y x x   

Differentiate the following functions : 

(a) 
2 6

5 8y x x  

(b) 
2

( 4 8 ) ( 4 )y x x
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